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1 BEE 6,000,000 400,000 5,600,000
=Eizk: o 6,000,000 400,000/ 5,600,000
=k 6,000,000 400,000  5,600,000|ET&1BE
2 fHENE 0 0 0
fHENE 0 0 0
fHENE 0 0 0
3 fFEE 334,528 0 334,528
Re 334,528 0 334,528
Brus 334,528 0 334,528
4 FEIRA 0 0 0
FEULA 0 0 0
HEUXA 0 0 0
=1 6,334,528 400,000 5,934,528
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1 EEE 400,000 100,000 300,000
=EE 400,000 100,000 300,000
SEE 400,000 100,000 300,000| % & A%
2 B%E 330,000 100,000 230,000
EBE 330,000 100,000 230,000 ;&35 5. ENRIZLA
EHE 330,000 100,000 230,000 |fR:A F #41%
3 £X& 5,500,000 200,000, 5,300,000
EXE 5,500,000 200,000| 5,300,000 |REHHE
BEE 5,500,000 200,000(  5,300,000|AEH%EE
4 FiwrE 104,528 0 104,528
FiEE 104,528 0 104,528
FliEE 104,528 0 104,528
ait 6,334,528 400,000 5934528




